
1) (-44) x 26

Answer: ____________

2) (-44) x 26

Answer: ____________

3) Find the percentage change from 8 to 
72

Answer: ____________

4) Round 15.2456491621 to 4 significant 
figures.

Answer: ____________

5) 459.3 - 633.4

Answer: ____________

6) (n8)18

Answer: ____________

7) Round 30.2119134157 to 4 significant 
figures.

Answer: ____________

8) 04:52 am To 12:50 pm

Answer: ____________

9) 7-3 / 7-10

Answer: ____________

10) 722.6 - 177.6

Answer: ____________

11) Increase 35 by 1/5

Answer: ____________

12) (5 x 21) + (5 x 22)

Answer: ____________

13) $147.00 earning 1% compound 
interest for 3 years.

Answer: ____________

14) (-37) x (-5)

Answer: ____________

15) 28 x (-40)

Answer: ____________
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16) A number is chosen at random from 
1 to 50. Find the probability of 
selecting even number.

Answer: ____________

17) Round 0.95877347 to 7 significant 
figures.

Answer: ____________

18) Find area of 
rectangle having 
sides a = 795 cm 
and b = 257 cm

Answer: ____________

19) Increase 104 by 1/13

Answer: ____________

20) 35 / 3-9

320

Answer: ____________

21) (1 x 59) + (5 x 1-5)

Answer: ____________

22) q-16 * q-18

q-9

Answer: ____________

23) Round 5.970022 to 3 significant 
figures.

Answer: ____________

24) Round 25.16217 to 2 significant 
figures.

Answer: ____________

25) 03:41 am To 07:58 am

Answer: ____________

26) Find the median of the following set of data:

2, 39, 12, 3, 21, 30, 27, 21, 31, 14, 2

Answer: ____________

27) Find area of 
rectangle having 
sides a = 990 ft 
and b = 889 ft

Answer: ____________

28) (2 x 15) - (7 x 74)

Answer: ____________

29) (2 x 15) - (7 x 74)

Answer: ____________

30) (36)16

Answer: ____________
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31) 715 * 7-14

7-1

Answer: ____________

32) 177.2 - 814.6

Answer: ____________

33) 654.5 - 586

Answer: ____________

34) $454.00 earning 6% compound 
interest for 10 years.

Answer: ____________

35) A number is chosen at random from 
1 to 50. Find the probability of 
selecting multiples of 14 and 15.

Answer: ____________

36) Find area of 
rectangle having 
sides a = 944 in 
and b = 771 in

Answer: ____________

37) Find the median of the following set of data:

36, 11, 14, 14, 4, 10, 9, 35, 38, 18, 
24, 15, 10, 11, 13, 2, 38

Answer: ____________

38) n16 / n2

n1

Answer: ____________

39) Round 18.0950687 to 2 significant 
figures.

Answer: ____________

40) A number is chosen at random from 
1 to 50. Find the probability of 
selecting divisors of 14.

Answer: ____________

41) A number is chosen at random from 
1 to 50. Find the probability of 
selecting divisors of 14.

Answer: ____________

42) A number is chosen at random from 
1 to 50. Find the probability of 
selecting prime number.

Answer: ____________

43) Round 17.19 to 1 significant figures.

Answer: ____________

44) 10:27 am To 05:45 pm

Answer: ____________

45) $387.00 earning 1% compound 
interest for 1 years.

Answer: ____________
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46) (-849) + (-939)

Answer: ____________

47) (-849) + (-939)

Answer: ____________

48) $296.59 earning 2% compound 
interest for 5 years.

Answer: ____________

49) Find the percentage change from 52 
to 65

Answer: ____________

50) (-34) x 15

Answer: ____________

51) (-50) x 12

Answer: ____________

52) 219 * 216

Answer: ____________

53) Increase 104 by 1/26

Answer: ____________

54) Increase 104 by 1/26

Answer: ____________

55) $220.00 earning 1.3% compound 
interest for 7 years.

Answer: ____________

56) $249.00 earning 10% compound 
interest for 6 years.

Answer: ____________

57) 53 / 513

520

Answer: ____________

58) 55.4 - 686.5

Answer: ____________

59) 55.4 - 686.5

Answer: ____________

60) Find the percentage change from 2 to 
50

Answer: ____________
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61) Increase 118 by 2/59

Answer: ____________

62) Increase 28 by 2/7

Answer: ____________

63) 402.7 - 601.6

Answer: ____________

64) A number is chosen at random from 
1 to 50. Find the probability of 
selecting prime number.

Answer: ____________

65) Find the percentage change from 3 to 
90

Answer: ____________

66) A number is chosen at random from 
1 to 50. Find the probability of 
selecting factors of 13.

Answer: ____________

67) (9 x 75) + (4 x 49)

Answer: ____________

68) (2-19)6

Answer: ____________

69) Find the median of the following set of data:

16, 21, 21, 5, 24, 11, 6, 5, 33, 35, 
17, 8, 20, 16

Answer: ____________

70) (-12) x (-46)

Answer: ____________

71) 08:38 am To 03:04 pm

Answer: ____________

72) Round 10.640910 to 1 significant 
figures.

Answer: ____________

73) A number is chosen at random from 
1 to 50. Find the probability of 
selecting prime number.

Answer: ____________

74) (-6) x (-5)

Answer: ____________

75) Increase 86 by 5/43

Answer: ____________
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76) 718.1 - 478.9

Answer: ____________

77) Find the median of the following set of data:

32, 7, 35, 27, 35, 27, 11, 16, 8, 19, 
31, 36, 21, 38, 24, 15, 30, 26, 26

Answer: ____________

78) (6 x 19) - (7 x 77)

Answer: ____________

79) Increase 105 by 2/21

Answer: ____________

80) Find the percentage change from 72 
to 54

Answer: ____________

81) $255.00 earning 7% compound 
interest for 8 years.

Answer: ____________

82) Find the percentage change from 14 
to 35

Answer: ____________

83) $397.00 earning 4% compound 
interest for 2 years.

Answer: ____________

84) 873.8 - 129.5

Answer: ____________

85) A number is chosen at random from 
1 to 50. Find the probability of 
selecting factors of 14.

Answer: ____________

86) 14 x (-43)

Answer: ____________

87) Round 26.2402684 to 6 significant 
figures.

Answer: ____________

88) Find the percentage change from 1 to 
29

Answer: ____________

89) Increase 33 by 1/11

Answer: ____________

90) 08:44 am To 02:56 pm

Answer: ____________
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91) Find area of 
rectangle having 
sides a = 998 ft 
and b = 957 ft

Answer: ____________

92) Find the median of the following set of data:

11, 30, 6, 12, 30, 6, 8, 30, 28, 9, 23, 
37, 9, 4

Answer: ____________

93) Find the median of the following set of data:

23, 36, 14, 11, 7, 8, 31, 21, 15, 18

Answer: ____________

94) A number is chosen at random from 
1 to 50. Find the probability of 
selecting factors of 11.

Answer: ____________

95) (f-16)17

Answer: ____________

96) Increase 300 by 1/75

Answer: ____________

97) 708.9 - 577.9

Answer: ____________

98) Find the percentage change from 26 
to 52

Answer: ____________

99) Round 7.8549510136 to 2 significant 
figures.

Answer: ____________

100) Find the percentage change from 2 
to 93

Answer: ____________

Total: ___ / 100
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Answers:

1) 2) 3) 800% 4) 15.25 5) -174.1 6) n144 7) 30.21

8) 07 Hours 58 Mins 9) 77 10) 545 11) 42 12) 30 13) $151.45 14)

15) 16) 12/25 17) 0.9587735 18) 204315cm 19) 112 20) 3-24 21) 1953130

22) q-25 23) 5.97 24) 25 25) 04 Hours 17 Mins 26) 30 27) 880110ft 28) -16805

29) -16805 30) 396 31) 72 32) -637.4 33) 68.5 34) $813.04 35) 3/25

36) 727824in 37) 38 38) n17 39) 18 40) 2/25 41) 2/25 42) 22/25

43) 20 44) 07 Hours 18 Mins 45) $390.87 46) -1788 47) -1788 48) $327.46 49) 25%

50) 51) 52) 235 53) 108 54) 108 55) $240.82 56) $441.12

57) 5-4 58) -631.1 59) -631.1 60) 2400% 61) 122 62) 36 63) -198.9

64) 22/25 65) 2900% 66) 0/1 67) 1199839 68) 2-114 69) 5.5 70)

71) 06 Hours 26 Mins 72) 10 73) 22/25 74) 75) 96 76) 239.2 77) 19

78) -5764795 79) 115 80) -25% 81) $438.14 82) 150% 83) $429.40 84) 744.3

85) 0/1 86) 87) 26.2403 88) 2800% 89) 36 90) 06 Hours 12 Mins 91) 955086ft

92) 19 93) 7.5 94) 0/1 95) f-272 96) 304 97) 131 98) 100%

99) 7.9 100) 4550%
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